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https://www.teacherspayteachers.com/Store/Think-Tank-Too
https://www.teacherspayteachers.com/Product/Earthquakes-Escape-Room-Activity-5525063
https://www.teacherspayteachers.com/Product/Hurricanes-Escape-Room-Activity-5524709
https://www.teacherspayteachers.com/Product/Tornadoes-Escape-Room-Activity-5525342
https://www.teacherspayteachers.com/Product/Ice-Ages-Escape-Room-Activity-5550261
https://www.teacherspayteachers.com/Product/Water-Cycle-Escape-Room-Activity-5526222
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: READING#2 i|i QUESTIONS

Glaciers are the largest sources of fresh
water on Earth. They can be divided into two 3. The upper part of a glacier that receives the

. Alpine and Continental. most snowfall is the zone of accumulation.

True False

Y. Greenland is a giant ice cap with ice that is 6
miles thick!
True False

ANAN NNV NAANANANN JVAASAAN

D VAT P AU A VA ATATAVATATAV. VAVAY A U4 AV A 4

ine glaciers form on mountains.

FAVAVAV AN AN N
D AVLTAVAYA

ages. Both Alpine and Continental glacie
require extremely cold temperatures and tons o
snow.

Glaciers can be found in Iceland, Alaska
Greenland and Canada, among other places.
Greenland is a giant ice cap with ice that is 2
miles thick!

The upper part of a glacier that receives

the most snowfall is the zone of accumulation.
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: READING #3

There are many different types of
glaciers. A calving glacier usually ends in a
ater. If that body of water has tides,

ANAN NNV NAANANANN JVAASAAN

Animals suc
walruses use icebergs
hunt for food.
Polar glaciers form in an area where the

FAVAVAV AN AN N

temperature is always below freezing.

Cirque glaciers form on the slopes of
mountains.

An ice cap is formed when ice completely
covers an area of land. Scientists can drill into
an ice cap to collect a cylinder sample of ice
called an ice core. The ice core can be studied
to provide a history of the earth’s climate.
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. QUESTIONS

FILLINTHEBLANK
6. A calving glacier usually ends in a body of

7. Anice is formed when ice

complefely covers an area of land.

8. Cirque glaciers form on the slopes of

YAV T AVAY A A TAT VA AV A VA ATATAVATATAV YAVAT A A" 'AVA A s
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. FINAL CODE

Use the answers found in the complefed puzzles
to determine the final code!

ANAN NIV NAANANNN VAN
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The number found

Puzzle #3 MINUS [19.

FAVAVAV AN AN N

The number found in

Puzzle #4 MINUS 70.

FINAL4DIGIT CODE:

LI L)L
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i CERTIFICATE

[ .

ICLTEGOESTO
OLVINGPUZZLES
AND THINKING
OUTSIDE THE BOX!

DOING THEIRBEST
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: DECODER #3
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: DECODER #H
GO » FIRST, THEN GO
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